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1) All questions are COMPULSORY.
2) Each question carries TWO MARKS.
3) Write the appropriate choice in the answerbook.
Q.1 TDM stands for
a) Time Division Multiplexing b) Total Data modulation
¢) Time Data and modulation d) None of the above
Q.2 BSCisa
a)  Character Oriented Protocol b) Hardware
¢) Bit oriented protocol d) None of the above
Q.3  ARP stands for
a)  Address Resolution Protocol b) Area Related Protocol
¢)  Advanced Route Protocol d) None of the above
Q.4  Which of the following is not a network layer?
a) Physical layer b) Data link layer
¢) Transport layer d) File access layer
Q.5  Which of the following is not a type of network topology?
a) Bus topology b) Ring topology
¢) Path topology d) Startopology
Q.6  Ethernet frame consists of
a) MAC address b) IP address
¢) Both MAC and IP address d) None of the mentioned
Q.7 What is Inter Frame Gap?
a) Idle time between frame bits b) Idle time between frames
¢) Idle time between packets d) None of the mentioned
Q.8 In cryptography what is cipher?
a) Encrypted message
b)  Algorithm for performing encryption and decryption
¢) Packet
d) None of the mentioned
Q.9 Whatis operating system?
a)  Collection of programs that manages hardware resources
b) Link to interface hardware and application programs
¢)  System service provider to the application program
d) All of the mentioned
Q.10 If a process fails, most operating system write the error information to a

a) Logfile b) New file
¢)  Another running process d) None of the mentioned
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Which one of the following is a synchronization tool?
a) Semaphore b) Socket
¢) LAN d) None of the mentioned

Which of the following condition is required for deadlock to be possible?

a) Mutual exclusion

b) A process may hold allocated resources while awaiting assignment of other
resources

¢) No resource can be forcibly removed from a process holding it.

d) All of the mentioned

Logical memory is broken into blocks of the same size called

a) Source code b) Frames

¢) Pages d) None of the mentioned
With paging there is no fragmentation.

a) Internal b) External

¢) Logical d) None of the mentioned

Software design consists of ?

a) Software product design

b) Software engineering design

¢) Software product and engineering design
d) None of the mentioned

Which of these is not project development activity?

a) Planning b) Organizing

¢) Operating d) Trading

Risk Analysis is an orderly process for

a) Identification of risk b) Understanding risk

¢) Assessing risk d) All of the mentioned

The format is usually used to store data.

a) BCD b) Decimal

¢) Logical d) None of the mentioned
is used to store data in registers.

a) D flip flop b) K Register

¢) Memory d) None of the mentioned

If a system is 64 bit machine, than the length of each word will be .

a) 4 bytes b) 8 bytes
¢) 0 bytes d) None of the mentioned

Which keyword in ‘C’ is used to prevent any changes in the variable within a ‘C’
program.

a) Const b) Random

¢) Double d) None of the mentioned

An array of similar data types which themselves are collection of dissimilar data type are
a) Trees b) Database

¢)  Array of structure d) None of the mentioned

‘C’ preprocessors can have compiler specific features

a) True b) False

¢)  Depends on the program d) None of the mentioned
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Which of the following cannot be a variable name in ‘C’.

a) Volatile b) True

¢) Friend d) Export

Basis path testing falls under .

a) System testing b) White box testing
¢) Black box testing d) Unit testing

The factors that determine the quality of a software system are

a) Correctness, reliability

b) Efficiency, usability, maintainability

¢) Testability, probability, accuracy, error tolerance, access control, audit
d) All of the mentioned

Which one of the following is not a software process model?
a)  Waterfall model b) Prototyping model
¢) Incremental model d) Star model

Which one of the following is not a feature of C++.
a) Inheritance b) Polymorphism
¢) System approach d) Encapsulation

Adaptive maintenance is a maintenance which

a)  Correct errors that were not discovered till testing phase

b) Iscarried to port the existing software to a new environment
¢) Improves the system performance

d) All of the mentioned

The directory structure used in Unix File System is called as
a)  Hierarchical directory b) Graph structure directory
¢) Tree structured directory d) None of the mentioned

The UNIX command S$vifilelfile2 .

a) Edits file 1 and stores the contents of file 1 in file 2

b) Both files i.e. file 1 and file 2 can be edited using ‘ex’ command to travel between
the files

¢) Bothfiles can be edited using ‘mv’ command to move between the files

d) Edits file 1, saves it and then edits file 2

Unix operating system is mostly written in

a) C-language b) VB

¢) PHP d) None of the mentioned
Interpreter converts the source code

a)  Whole program at a time b) Line by line

¢) Bitby bit d) None of the mentioned
Which of the number is not allowed in binary representation of a number?
a) 0 b) 1

¢c) 2 d) None of the mentioned

The octal number has base

a) 2 b)

c) 8 d 12

Which of the following is subset of {1,2,3,4}

¢ {1} d) All of the mentioned
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Q.37 Decision support programs are designed to help managers make
a) Business decisions b) Power point presentations
¢) Time schedule d) None of the mentioned

Q.38 Decision Tree is a display of an algorithm
a) True b) False
¢) Cannot say d) None of the mentioned

Q.39 Which of the following is not an operating system

a) Unix b) Windows
¢) Compiler d) Linux
Q.40 Which one of the following is not a type of address?
a) Logical address b) Physical address
¢) Printer address d) None of the mentioned

Q.41 The page table contains
a) Base address of each page in physical memory
b) Page size
¢) Memory map
d) None of the mentioned

Q.42 Which unit is responsible for converting the data received from the user into a computer
understandable format?

a)  Arithmetic and logic unit b) Output unit
¢) Input unit d) Memory unit
Q.43 The smallest unit of data is called
a) Bit b) Byte
¢) KB d) word
Q.44 VDU stands for
a)  Virtual display unit b) Virtual detection unit
¢)  Visual display unit d) Vital data unit
Q.45 Components that provide internal storage to the CPU are
a) Registers b) Internal chips
¢)  Monitors d) None of the mentioned

Q.46 Which one of the following is non-volatile storage?
a) Secondary memory b) Primary memory
¢) Cache memory d) None of the mentioned

Q.47 The hexadecimal representation of 14 is

a) A by F
¢y D d E
Q.48 What are the entities whose values can be changed are called ?
a) Constants b) Variables
¢) Tokens d) Modules
Q.49 Which of the following is not a data type in ‘C’?
a) Float b) Int
¢) Char d) Real
Q.50 What does FORTRAN stands for ----- ?
a) Formula translation b) Format transfer
¢) Formula transfer d) None of the mentioned
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